STU &% — BERE
(RN AR 2R ST AT TR I 4158

‘_:g ]

C ARKGIEE

% 1 i %
S —
e D mmil =
== -———- %ﬁﬁ% =D
— g 777714“'1—‘—7”1 77777777 ‘77
+ < &
O
o ERHEAR B kaf
_ Y ) ZemEE 2
41 1 WE | SEEE ZEREN  (kgf/cm?)
mm mm cm?2 1 2 3 4 5 6 7 8 9
@10 @6 1.0 - 2.0 3.0 4.0 5.0 6.0 7.0 8.0 9.0
@16 @8 3.02 (3.01) 6.03 9.04 | 12.06 | 15.07 | 18.09 | 21.11 | 24.12 27.14
@20 @10 4.71 4.7 9.4 14.1 18.8 23.6 28.3 33.0 37.7 42.4
@25 @12 7.55 7.5 16.1 226 | 30.2 37.7 45.3 52.8 60.4 68.0
@32 @16 12.06 12.1 24.1 36.2 | 48.2 60.3 72.4 84.4 96.5 108.5
SO L EEARAEE ; BRRAN  BEREFED REHMREHMETE - (15 70% ~ 80% ) °
o B|iE% O EEMEREER -
el EI4@ (mm) | @10 | @16 | @20 | @25 | @32 HI4E () maE
1EENE K WEN R EL
BRI 75 @10 | 255075100
{FREHEEE kgf / cmz (kPa) 1~8.5 (100 ~ 850)
EAEAEN kgf / cme (kPa) 9 (900) @16 | 255075 100 ~ 125 + 150 + 175 ~ 200 » 250
EHREEE °C 0~60
EAREHE p—. T @20 | 255075+ 100 ~ 125 ~ 150 + 175 » 200 » 250
Hg BHeE#iEAK
T 25 | 25350751100+ 125+ 150 ~ 175 ~ 200 + 250
172 AR EE -5~0 2
FEEmEOf M5x0.8 ‘ PTL/8
_ @32 | 255075100~ 125+ 150 + 175 ~ 200 » 250
REKE Fft PR R
C FIETEIEAR
STU 20 x 100 - A2 - 9D 2
1 2 3 4
AL AR ®OEL 1T A2 EERE RERRKE
10 — @10 @10 — 25 ~ 100 —=
16 — @16 @16 — 25 ~ 250
20 — @20 @20 —25 ~ 250
25 — @25 @25 — 25 ~ 250 Al2
32 - @32 @32 — 25 ~ 250 TR
STU. AREER ] el
O HEEZEREBER 2-2{8 (AL
RELAR | BEREE  KARKES
216 SAC-0806 2 Nem
20 SAC-0806 2 Nem
@25 SAC-1008 4 Nem
32 SAC-1008 4 Nem




STU &% — BERE
SHRBRIBMAEE

E,,

ES

]

e :

1

=2}

39

Pl

Weivivawin

C FHBBRMER

iR S HH %=1 4R SR = &
01 X g sHE® 11 N8B SEEE I
02 L TN FRER R 12 EERER ifi 36 B
03 I HER 13 A EER ifid 56 BB
04 EOE HE® 14 RIE=ORIR ifit 56 B
05 (5531 paiEgtr 15 JEEANORIR i 56k B2
06 = HE® 16 TR LRIR AR i
07 BiEE ME® 17 RS &
08 i i/ RER 18 h2 e AR5 R
09 ERIRA FRER SR 19 BHE BHE
10 i FH #1038 S EE 20 B sk s#mBe
A ::STU 310 @16 @20 BEMIABSE ; STU 025 » @32 BEMEAEES o
C BERORIR
== EERBE EEANORIR BB EE R EORIR
HI4E mm yE 2 2 4 4
@10 DYP-10(4pcs) 4 x1.0 DYR-6 8 x 1.0
@16 COP-16 6.3 x 0.8 DYR-8K 13.2x 1.5
@20 COP-20 8 x 1.0 DYR-10SK 17.5 x 1.5
@25 COP-25 10 x 1.5 DYR-12 20.8 x 2.0
@32 COP-32 13.5 x 1.5 DYR-16 28.5 x 2.0
LO s ZEaspmpAoR, 280808 (=% RERERSHMAG) -
Cc EEX
E 2 (kg
1 T 8 (mm)
mm 25 50 75 100 125 150 175 200 250
STU @10 x[]| 0.20 0.20 0.20 0.30 - - - -
STU @16 x[1| 0.60 0.60 0.70 0.80 0.90 1.00 1.10 1.20
STU @20 x[]| 0.80 0.90 1.00 1.10 1.20 1.40 1.50 1.60
STU @25 x[]| 1.20 1.40 1.60 1.70 1.90 2.20 2.40 2.70
STU @32 x[]| 2.40 2.70 3.00 3.30 3.60 4.00 4.30 4.60 5.20




STU &% — BARE
Bit RESTER

C FHAEEH (2EE)
o KEBEER BRI BEIER (STU)

BN : mm
788
wE (W N wm| 50 100 | 150 | 200
ﬁﬁKgf
$ @ STU-@10 0.3 0.08 | 0.30 - -
A STU-@16 05 0.07 | 0.15 | 0.30 | 0.50
4 b
STU-@20 0.7 0.05 | 0.15 | 0.30 | 0.50
STU-@25 1.0 0.05 | 0.10 | 0.20 | 0.40
STU-@32 2.0 0.03 | 0.10 | 0.20 | 0.30
C EEERN © 1772 O 3R B St 1tk R A2 & 2s
© FEEIERX (FBEE - BIREED)
I T 1
ISl 4
o EMEENX (FBEE - BIRBE)
| T — L >
il il 4
T fiu
g
i @;5&%@
#

© ABIRMTIARAAITR -5 mm > (ETRARZMER -
o HfiAHEARE RS - FIRFZEEER -



STU &% — BERE
SMRERRT - 210

C STU @10 x [ ]

12 (RA1H) 68+ (1772 x2) 12 (BRKA{H)
5 (&/JME) 8 15 (BATE) 8 5 (&/ME)
2-M6x1.0px25L , 1712 H%F 4 | | 30RME) N

10 (#8)

2-M3x0.5p 11 2-M5GEHRD) 11
S vl ~ ! ‘

Al | Y e e e e
SE Y 2 @
S N =
34
4 60+ (17#2 x2) 4
46+ 1712 2.8

g
i

\
&
T
-
,@%
=
i

G H 4- 3.5 Eif,
4- @3 5858, £ \ l‘: ‘ 1AL @6x3.5 % (FATH)

N T 1
HA 3SR (46+1752) / 2 2— M4x0.7px53%

O R~&
e ,_m; 25 50 75 100
E 28 28 28 28
F 15 40 65 90
G 18 18 18 18
H 35 60 85 110




STU &%l — BEREI

SMBEERRT - 916

C STU @16 x [ ]

15 (RA{E) 84+(1T%2 x2) 15 (RA{E)
5 (&/I\ME) 12 16.5 (BAME) 12 5 (B/)M\E)
2-M8x1.0px25L ,FTFZEHEE 6, 2.5 (/M) 6
MOMBRAEETRS (BACH)
S e s AR
N
3y Ty —— 3
] — -
. . . . i o L
1 (#58)
2- M4x0.7p 15.5 2- M5(EHEO) 15.5
0
S AR % @7 o~
N S I " G N N ! I =
a3 M E =0 — EE%
Hv T
48
6, 72+(1742x2) 6
54+ 1712 2.5
8 i +
§ Sd—eo—— Q&5 81
| —/
N o S O 1 Y ) o
© & &l
G H 2- M5x0.8px6iF
4- @4 SEE, E F 4-@4.5858,
7. 08x4.5 % (54+1782) 1 2 17, 98x4.5 % (M)
O RY=x CEEF MG/ HMEEESR
718
.o mm | 25 50 75 100 125 | 150 | 175 | 200 | 250
S8R
E 19.5 22 24.5 27 29.5 42 54.5 67 77
F 40 60 80 100 120 120 120 120 150
G 29.5 32 34.5 37 39.5 52 64.5 77 92
H 20 40 60 80 100 100 100 100 120 SAC-0806




STU &% — BaRIL
SMEERR - 920

© STU @20 x [ ]

15 (JRAfE) 85+(712 x2) 15 (RAfE)
5 (&/I\ME) 12 15 (BAfE) 12 5 (B/)M\E)
2-M8x1.0px25L , {TF2EHRE A 6, 3 (F&/MB)
MOMBRAEETRS (FACH)
o
e S
~
88 Ty —— {3
R . . I T A
Q
1 (#58)
2-M4x0.7p 16.2 2- M5 (EHRO) 16.2
= 4 ,,,,,,,,, 7@,7 T I
o i R fi,,ﬁ
- g i
54
6, 73+(17F2x2)
55+ 1712 2
8 i +
3 i —— Q&9 o
‘ | —
N e I [ 1 Y ) o
9 £ &l
G H 2-M5x0.8px6 %
4-@4.5 B3, E | F 4-24.5 i,
17l @8x4.5 R (55+1712) 1 2 17l @8x4.5 3 (FIMH)
O RY=x CEEF MG/ HMEEESR
718
.o mm | 25 50 75 100 125 150 175 200 250
S8R
E 20 22,5 25 27.5 30 42.5 55 67.5 77.5
F 40 60 80 100 120 120 120 120 150
G 30 325 35 37.5 40 52.5 65 77.5 92.5
H 20 40 60 80 100 100 100 100 120 SAC-0806




STU &%l — BEREI

SMBEER.RT - @25

CSTU @25 x [ ]

15 (JRAfE) 96+(1712 x2) 15 (RAfE)
5 (F/)ME) 14 13 (BAfE) 14 5 (B/)M\E)
2-M10x1.0px30L ,FTA2B%E 7, 3 (B/IME) .
R (R \ |
o~
e B
N
SRIREEE S==c===-=== T 5= |
R . . r—_ ] A
S
13 (#938)
2-M4x0.7p 19.5 2-M5(GEHRH)
~
-
<l [
H =
66
7, 82+(17F2x2)
62+ 1112 2
© 5 or 0 ;
g St —— &% —t8 71
Q o | & &
G ‘ 6 M5x0.8px7iE
4-@5.5 Bif, E_| 4-@4.4 B,
L @9.5%5.5 (62+17%2) / 2 HF @8x4.5F (FH)
O R~& CEEF MG/ HMEEESR
718
e mm | 25 50 75 100 | 125 | 150 | 175 | 200 | 250
T
E 23.5 26 28.5 31 33.5 46 58.5 71 81
F 40 60 80 100 120 120 120 120 150
G 33.5 36 38.5 41 43.5 56 68.5 81 96
H 20 40 60 80 100 100 100 100 120 SAC-1008




STU &%l — BEREI

SNEERRT - 932

©CSTU@32x[ ]

13 (&A{E) 109+(47#2 x2) 13 (&A{E)
8 (/M) 17 10 (RAfEH) 17 8 (&//\E)
2-M10x1.0px30L , {772 A% A 8.5 4.5 (&/\E) 8.5
NOMBETERR (ERCH)
©
=
o e 5
] 5 )
| . . . I a——1—+
13 (#8)
2-M5x0.8p 20.7 2-Rc 1/8 (EHRO) 207
0
by | w0
ofal | NN S QE F ]
80
8.5, 92+(17#2x2) 8.5
66+ 1772 35
+ & @} & &
g HHI+Pf—o—6———- fg\ﬁf}wg o —
el & [o o)
‘10 ‘ 10‘ 6-M6x1.0px127R
4-06.5 838, G | H 4-@5.5 B3,
HF @11x6.5 & E | E 1L 29.5%5.5 % (FHE)
(66+17%2) / 2
O RY=x CEEF MG/ HMEEESR
718
.o mm | 25 50 75 100 | 125 150 175 | 200 250
S8R
E 30.5 33 30.5 33 35.5 48 60.5 73 83
F 30 50 80 100 120 120 120 120 150
G 35.5 38 40.5 43 45.5 58 70.5 83 83
H 20 40 60 80 100 100 100 100 150 SAC-1008




STU &% — BaREL
HEREERERS*

RERERUE

REREENAR L > EFEBHMZEL
RUFERREY > MBI IR M ERMAE
E ; MEZEMMEEBME 0.5mm
ERZBRE -

Eh{EEE
EEEFUBEER > MIZHRRAZERE
EEHE > HEEEAMAZ R EEAR
Z2BERE - (F2RTREE)
B{I:mm
i CS-9D(B)
RELELR B ESE (F) RFEZE (R)
210 8 1
216 8 1.2
220 11 1.2
225 9 1.5
@32 9 15
e CS-30E
SRURLELR B EIE (F) RFEZ (R)
@10 10(8) 1
216 9(5) 12
220 13(11) 12
225 10.5(9) 15
@32 10.5(9) 15

5 1 1.STU@10, 916 #RIFESS CS-30S Z 8tk o
2.( ) AAERRIZ 8% o

C RFESRZREABFEE
© CS-9D (B)

-]

O RESRER

CS-9B
ERER :

CS-9D
EHEE:

CS-30E
ERER :

DC 5~ 120V S&ﬁ
AC 5~ 120V
DC 5~ 120V g

AC 5~ 120V

DC 5~ 120V
AC 5~ 120V




	3.0-B_部分626
	3.0-B_部分627
	3.0-B_部分628
	3.0-B_部分629
	3.0-B_部分630
	3.0-B_部分631
	3.0-B_部分632
	3.0-B_部分633
	3.0-B_部分634
	3.0-B_部分635



